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OUESTION 3

in the diagram, P, R(3;3), 5(-3
FERS RS and PR ocut the

reigat Bosmd P orespectively. PR
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3.1 Write down the equation of PR, (1
3.2 {Caleulate the:
321 (radientof RS {2)
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4 A . . P = ey fon ol 4 [”lv)
o I£itis given that TS = 245, caloulate the vaiue ol &
a . . A1 o e NP A F abeqibate o
3.4 Paraliclogram  TONS, with N in the 4% quadrant, is drawn, Caleulate the ol
coordinates of . _
4 &, A ‘r ey =] w3l [ 64 <3 At
153 :r\F'Tl.F') is reflected ahout the yeaxis to form  APRLY, Caleulale the size of
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OUESTION 4

I the dingrean, 8 circle haviag cenire M s the yesxis st A=D1 and the w-axis sl

B0 1 15, A sinallercirele, ventred st [\‘lr J pagses through W and cuts the larger cirele

at B m]d. C. BNC is a dimmeter of the srwi or cirele. A tanpens dravn to the smaller circle at
s the x-awigat D,
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&1 Determine the of the circle centred  at i i the  foan
T ; 3
ay » (y-bY =r (3)
42 Catoutate the covedinates of C. (2}
&3 ShUW that the equation of the tangent CIr is ¥ {43
3.4 l.}ctmnmc she values of ¢ for which the line ¥ =X 1wl NOT wuels or cut the
simaller sirele. E)
4.5 The smalicr eirele centred at N st ansformed suc b that point € is ranslated along
{he tangent wr B, Calewlate the coordinates of E, the new centre of the wmaller
cirele, {3
4.5 [£ 16 i3 given that the arcs of quadrilateral  OBCD is 2 square upits und N
w: ®)
a0, show that ¢ === s
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QUESTION 4

Ir} the diqgrzm} N is the centre of the circle. M(=3 ; -2) and P(1;4) are points on the
circle. MNP is the diameter of the circle. Tangents drawn to circle N from point R, outside

the circle, meet the circle at 8 and M respectively.

4.1 Determine the coordinates of N.

4.2 Determine the equation of the circle in the form (x-— a)y: +(y by o »
43 Determine the equation of the tangent RM in the form y=mx +¢.

4.4 If it is given that the line joining S 10 M is perpcndicular ot

coordinates of S.

4.5 Determine the coordinates of R, the common external point from w

tangents to the circle are drawn.

4.6 Calculate the area of RENM.
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QUESTION 4

In the diagram, P-4 ; 5) and K(0 ; -3} are the end points of the diameter of a cirele with
M. 8 and R are respectively the x and p-intercepl of the tangent w the eirele al P,

cenlre
& 19 the lnclination of PE with the positive x-axis.
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. Determringe:
4.1.1 The gradient of SR {4}
4.1.2 The cquation of SR in the form v =po -t o {2y
3 . s 3 . T B (4
4.1.3 The equation of the circle in the form {x—a)”+ (3 —B)" =7 (4
22 of PRE ()
4. 1.4 The size of PEKR
G oo o 3 5 PR 5P oy
403 The equstion of the tangent 1O the circle al K in the form p=my + o {2}
4.2 Petermine the values of 1 such tha the ling p = =% +f cuis the circle at two different

OIS,

43 Cateulete the area of ASMEK.
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